Thread turning system External / internal thread turning tool

PNR. . PNR. .

o e e o B

Leverlocking type Lever locking type

A
Petroleum pipe internal thread processing n Petroleum pipe internal thread processing
Lever Lever Screw Wrencr} D|-=- . P Levgr Levelf Sprew W'fe"?',l_l
. 5 - LL 70, _ 2 _ E
L4-1 M6x18 PL30 ) ) ‘ i ‘ L4-1 M6x18 PL30 Note: E is the tool helix angle
Note: E is the tool helix angle ‘ L |
== (Inserts): A63-A64/B77 (Toolholder Parts): P01-P04 R-Type = (Inserts): A63-A64/B77 (Toolholder Parts): P01-P04
Dimensions insert Shim Stock Dimensions
Ordering code L f A B C D E Processing Range @ A RIL Ordering code L f A B C D E G Processing Range A RI|L
PNR 0040-205-B17A 205| 26 80 40 | 100 42 70° o | 01231630 PNR 2538-285-B17A 285 26 | 160 38 | 105 25 70° 62 . . o | 01231668
0050-220-B17A | 220| 26 | 90 | 50 | 105 | 42 | 70° 5 3/8"51/2" o | o [231631 3249-285B17A | 285| 26| 160 | 49| 105 | 32 | 70° | 62 | 2-3/8"~3-1/2 o | o [231669
0060-225-B17A 225| 26 | 100| 60| 100]| 42 | 70° oo |231632 3249-335-B17B 335 31|180| 49130 32 | 50° |74.3 ) + | 221R10RD2-4 o| o [231670
0080-280-B17A 280| 26 | 150 | 80 |105| 42 | 70° o | o |231633 3655-335.B17B 335/ 31|180| 55|130]| 36 | 50° |77.2| 45112 BN17 o| o |231671
0040235-B17B | 235 31 | 80 | 40| 130 50 | 50° 22IR10RD2-4 o | o 231634 3249-363-B17C | 363| 36 | 180 | 49 | 158 | 32 | 30° | 74.3 . | 22IR8RD2-3 o | o [231672
0050-273-B178 | 273| 36 | 90 | 50| 158 | 56 | 50° . . | 22IR8RD2.3 BN17 o | o |231635 3655-378B17C | 378| 36| 200 | 55|163| 36 | 30° | 82 | 6-5/8"~8-5/8" | 22IR5BU2-2 o | o |231673
0060-273-B17B 273| 36 | 90 | 60| 158 | 56 | 50° 4"~5-1/2 o| o |231636 3249-400-B17D 400 52280 | 49158 | 32 |30° [74.3] o oo o, o| o |231674
0080-300-B17B 300| 36 | 140 | 80 |158| 56 | 50° 22IR5BU2-2 o | o |231637 4055-400-B17D 400| 52 |200| 55|163| 40 | 15° | 82 |~° i o | o |231675
0060-278-B17C 278| 36 | 100| 60| 158 | 56 | 30° ) ] o| o |231638 PNR 3249-335.B23B 335 31180 | 49130 | 32 | 50° [74.3| u_c 4o o] o [231676
0080-318-B17C 318| 36 | 140 | 80| 158| 56 | 30° 6-5/8"~8-5/8 o | o |231639 3655-335-B23B 335| 31180 55|130]| 36 | 50° |77.2 o| o |231677
0060-295-B17D 205| 43 | 100| 60| 175] 60 | 15° 0.5/8"-13.3/8" o | o |231640 3249-363-B23C 363| 36| 180| 49| 158 | 32 | 30° | 74.3 . .| 271R5BU2-3 o| o |231678
0080-335-B17D | 335| 43 | 140 | 80 |175| 60 | 15° o | o [231641 3655-378-823C | 378| 36| 200 | 55| 163 | 36 | 30° | 82 | 8-5/8"8-5/8" | Lorpos BN23 o | o [231679
PNR 0050-273-B23B 273| 36 90 50 | 158 56 50° O | 01231642 3249-400-B23D 400 52 | 280 49 | 158 32 30° |74.3 9-5/8"~13-3/8" o | 0 (231680
0060-273-B23B 255| 36 | 90 | 60| 158 | 56 | 50° 4"~5-1/2" o | o |231643 4055-400-B23D 400| 52|200| 55| 163 | 40 | 15° | 82 o | o |231681
0080-300-B23B 300| 36 | 140 | 80 |158| 56 | 50° o | o |231644
0060-278-823¢ | 278| 36 | 100 | 60 | 158 | 56 | 30° . . | 27IR5BU2-3 BN23 o | o |231645
0080-318-B23C | 318| 36 | 140 | 80 | 158 | 56 | 30° 6-5/8"~8-5/8" | ,7|R8RD2-5 o | o |231646
0060-295-B23D 295 43 | 100| 60| 175| 60 | 15° 0.5/8"-13.3/8" o | o |231647
0080-335-B23D 335 43 | 140] 80 |175| 60 | 15° o | o |231648
TNR. . A TNR. .
-y
___________ U X B Note: E is the tool helix angle
Clamp locking type Clamp locking type
i R |
Petroleum pipe internal thread processing Note: E is the tool helix angle
Petroleum pipe internal thread processing
Clamp Clamp Screw 'Snpnng Shim Screw Pin Clamp Wrengh Shim Wrench
= | b | W | ¢ | & | N~ |
cL2 M5x20 B7x11 M4x8 @2x10 PL30 T15 .
-lype
= (Inserts): A63-A64/B77 (Toolholder Parts): P01-P04 Clamp Clamp Screw ‘Spring ShimSgrew Pin Clamp Wrench | Shim Wrench R-Type
Dimensions Insel Shin Stock " ‘ N ‘*‘ ’ T /‘
Ordering code Ll ftlalBlclplE Processing Range A RIL cL2 M5x20 a7x11 M4x8 @2x10 PL30 T15
TNR 0040-205-B17A 205| 26 | 80 | 40| 100 42 | 70° oo 231649
0050-220-B17A 220| 26 90 50 | 105 | 42 70° 0.3/8"~3.1/2" o | o 231650 = (Inserts): A63-A64/B77 (Toolholder Parts): P01-P04
0060-225-B17A 225| 26 [ 100| 60 | 100 | 42 | 70° ) ) o | o (231651 Dimensions Insert Shim Stock
0080-280-B17A 280| 26 | 150| 80| 105| 42 | 70° o | o |231652 Ordering code orocsssing Ranae A
0040235-B17B | 235| 31 | 80 | 40 | 130 | 50 | 50° 22IR10RD2-4 o | 0231653 ¢ L, f|/ A/ BJ]C|DJE]G e RIL
0050-273-B17B 273| 36 | 90 | 50| 158 | 56 | 50° . . 99IRERD2.3 N1 o | o |231654 TNR 2538-285-B17A 285| 26| 160 | 38 | 105 | 25 | 70° | 62 ] ] o | o |231681
0060-273-B17B 273| 36 | 90 | 60| 158 | 56 | 50° 4"~5-1/2 o | o |231655 3249-285-B17A 285| 26 |160| 49|105| 32 | 70° | 62 | 2-3/8"~3-1/2 o | o |231682
0080-300-8178 | 300| 36 | 140 | 80 |158| 56 | 50° 22IR5BU2-2 o | 0 |231656 3249.335B17B | 335| 31| 180 | 49| 130 | 32 | 50° | 74.3| . | 22IR10RD2.4 o | 0 |231683
0060-278B17C | 278| 36 | 100 | 60 | 158 | 56 | 30° o| o |231657 3655-335-B17B 335| 31|180| 55|130| 36 | 50° |77.2| 47512 o | o |231684
5 6-5/8"~8-5/8" - 22IR8RD2-3 TN17
0080-318-B17C 318| 36 | 140 | 80 |158| 56 | 30 o | o |231658 3249-363-B17C 363| 36| 180 | 49| 158 | 32 | 30° |74.3 ) ) o | o |231685
0060-205-B17D | 295| 43 [ 100 | 60 | 175| 60 | 15° 9.5/8"-13.3/8" o | 0231659 3655-378-B17C | 378| 36 | 200 | 55|163 | 36 | 30° | 82 | 6-5/8"~8-5/8" | 22IR5BU2-2 o | o |231686
0080-335-B17D 335| 43 | 140 | 80|175| 60 | 15° ) i o | o 231660 3249-400-B17D 400| 52 | 280 | 49 [ 158 32 | 30° [74.3[ o0 oo, o | o |231687
TNR 0050-273-B23B 273| 36 | 90 50 | 158 | 56 | 50° o | o (231661 4055-400-B17D 400| 52 |200| 55|163| 40 | 15° | 82 |7~ ) o | 0 |231688
0060-273-B23B 255| 36 | 90 | 60| 158 | 56 | 50° 4"~5-1/2" o | o |231662 TNR 3249-335.823B 335 31180 | 49130 | 32 | 50° [74.3] ,u_g 4 on o | o [231689
0080-300-B23B 300| 36 | 140| 80| 158 | 56 | 50° O | O (231663 3655-335-B23B 335| 31|180| 55|130| 36 | 50° |77.2 o | 0 (231690
0060-278-823C | 278| 36 | 100 | 60 | 158 | 56 | 30° . .| 27IR5BU2-3 TN23 o | o |231664 3249-363-B23C | 363| 36 | 180 | 49| 158 | 32 | 30° [74.3 , , | 27IR5BU2-3 o | 0231691
0080-318-B23C | 318| 36 | 140 | 80 | 158 | 56 | 30° 6-5/8"~8-5/8" | »7|R8RD2-5 o | o 231665 3655-378-823C | 378| 36| 200 | 55| 163 | 36 | 30° | 82 | 6-5/8"~8-58" | o5 TN23 o | o [231692
0060-295-B23D 295| 43 | 100| 60| 175| 60 | 15° 0.5/8"-13.3/8" o | o |231666 3249-400-B23D 400| 52280 | 49| 158 32 | 30° [74.3]g oo o oo o | o |231693
0080-335-B23D 335 43 | 140] 80]175] 60 | 15° . . o | o |231667 4055-400-B23D 400| 52]200| 55|163| 40 | 15° | 82 o | 0 |231699




Cut-off Turning Tool Tool system for Grooving / Cut-off

S CsvV CTP(A)R CTPWR CTPL-SUB CTPR-SUB KTKFR
N
N § ABO02 AB20 AB20 AB20 AB20 AB25
Grooving / Cut-off Turning System R T _ _
: End Face Grooving Turning System
i Csv.. CTPW. CTP.. CTP.. TKF..
. Q7~212 @ 8~025 210~025 8~ 16 2 8~012 28~216

. N - SGIEFR SGIVFR
B90 . § =
. 4 y‘
: ezl =_ | 4
. L e - —-—
MRMN . 3 SP ZQMX. TKN KGT. CTD GE 3 csv vC \Ye vc MGMN
16~ 32 . N 216~032 216~032 210~025 216~225 220 @25 216~225 . 26~210 26~210 220~225 216~225 210~225 216~340
Recess Grooving ' External Cut-off N Internal End Face Grooving

KTGFSR

MGAH..R MGFHRR

; . UGHN SCTH SLTBN

: MGMN MFMN
: 226~032 226~032 226~032 026~032 16~032 ©20~025 ©920~225
: External Cut-off End Face Grooving
. DS-KTGFL DS-KTKFL CH-GTTL KTKFSL
. B130 B121
. GTM. cTP.. TKF.. MGMN MFMN..
14~025 10~212 @10~ 220 10~220 ©20~025 ©920~025
External Grooving/Cut-off | D§ End Face Grooving

MGHH..R MGFHRL FGHH..R

End Face Grooving

MGHH..L MGFHLR FGHH..L

MFMN..
220~325

SC.. SC..
220~325 220~@25

End Face Grooving

MGFV..R MGFVR FGVH..R

FMM
220~@25

End Face Grooving

' : 04~08 04~08
. Boring :
SBDR SBCR .
T-MGEHR MGEHR-R AB29 AB29 :
93¢ T
- s 45°N\_45 :
44°™ . MGMN
. . 216~040 216~040 216~040
. 04~08 @4~08 : Boring
: 45° : SIGER T-SIGER
External Grooving/Cut-off : .

GBA..
@16~032

GBA. GBA. MGTR. TGAR..
016~025 016~025 020~0025 010~0025

External Grooving

TGF.

26~320 26~320 216~332 216~325

JTG..
010~016




Cut-off Turning Tool Lathe Cut-off Tool

Cutting Environment @ StableCutting @@ General Cutting 4 Unstable Cutting
P Steel 00 XOx0
M Stainless Steel o &8O
K Iron o o ®
N pp! Plastic/Wood ° ')
S Carbide/Powder Metallurgy o X"}
- Titanium/Superalloy/Carbon Fiber ° EX")
Cutting Environment @ StableCutting @) General Cutting 3§ Unstable Cutting Cutting Environment @ StableCutting @@ General Cutting 3§ Unstable Cutting g): Dimension !.‘?o uo_);gg
P T o Polo P T o Pelo § Dimensioning Product Image Specification el Taluls §§§§%§§§E
M Stainless Steel (] BO M Stainless Steel o BO 3
K Iron o o % K Iron o o % ‘(—">
N Aluminum/Copp i ° 0 N i PP ° 0 e D. D ZQMX 3NM-1E  |[3.1{03] 11| - | - | - cee
S & ANM-1E |41 (03] 11| - | - | - LIS
S Carbide/Powder Metallurgy ° £ S Carbide/Powder Metallurgy ° 0 ,L( = SN1-1E  |54]0al 1| - | - | - e
- Titanium/Superalloy/Carbon Fiber ° 2@ - Titanium/Superalloy/Carbon Fiber ° 2@ 6N11-1E  [6.4|03] 11| - | - | - DY
= = Y INM-E |70[03] 4] - | - | - coe
= Dimension X» ow=am 3 Dimension X0 o=nm wiE==1
5 Dimensioning Product Image Specification nzz%;ﬁﬁﬁﬁ 5 Dimensioning Product Image Specification hzz%&“&ﬁfﬁ J
= OoMZzxOooaa 2 0NN ZzxOooaa
&) Wire|L|B|H|6BEOONNNNNN  § Wl re|L|B|H|OROONNNNNN
i~y Qza.R.. B
DD SP 200 22|02]93| - | - | - ceene _ ;
300 31002113 - | - | - coee =
e 400 a1lo2s(t1a - | -] - seoe R
€ 500 51003[114 - | - | - ceee
%EEU 600 6.410.35(11.4) - | - | - ceee . }
o/ T 4 3
| Tmax_ o
Cut-Off Processing
L r_'-, ; -
‘ . D‘ D = (Inserts): A41/B84 (Toolholder Parts): P01-P04 R-Type
JDD m SP 200R  |22]02]os| | | - A i ‘.VT i sP 200t zlozlos| || seee
AR 2332 ot st e I e 3 = 400L 41 p2si1a) - |- |- cese Order
N 500R saloafial - |- |- ceee * I gggt RO et st N Number
wl [E=1 = 600R 6.4(0.35(11.4) - | - | - ceee WE= = R s A I
yj,\( 8 Py — Qza 1616R/L03 3 16 16 80 16 | 16.4 | 16 M5%20 La e | o 251800
2020R/L0O3 3 20 | 20 | 100 | 20 [ 204 | 20 ZOMX3N11-1E e | o 251802
2525R/L03 3 25 | 25 | 120 | 25 | 254 | 20 : M6x25 L5 e | o 251804
3225RIL03 3 25 | 32 | 135 | 32 | 254 | 25 e | e 251806
1616R/IL04 4 16 16 80 16 | 16.4 16 M5x20 L4 e | e 251808
2020R/L04 4 20 | 20 | 100 | 20 |20.4| 20 ZOMXAN11-AE e | o 251810
2525R/L04 4 25 | 25 | 120 | 25 | 254 | 20 ) M6x25 L5 e | e 251812
3225R/L04 4 25 32 135 | 32 | 254 | 25 e | o 251814
ZQ. . R
=
= i<
L |
|
- Tmax o
31
Cut-Off Processing )
R-Type

= (Inserts): A36/B83 (Toolholder Parts): P01-P04

Order

e ’ Number

ZQ 1616R/L-02 2.2 16 16 100 16 16.4 16 M5x20 L4 e | e 251100
2020R/L-02 2.2 20 20 125 | 20 | 204 | 16 SP200 M6x20 L5 e | o 251102
2525R/L-02 2.2 25 25 150 25 25.4 16 e | o 251104
ZQ 1616R/L-03 3.125| 16 16 100 16 | 16.4 | 20 M5x20 L4 e | o 251106
2020R/L-03 3.125| 20 20 125 | 20 |204| 20 SP300 e | e 251108
2525R/L-03 3.125| 25 25 150 | 25 | 254 | 20 M6%20 L5 e | o 251110
3225R/L-03 3.125| 25 32 170 | 32 | 254 | 20 e | o | 251112

ZQ 1616R/L-04 4.125| 16 16 100 16 | 16.4 | 25 M5x20 L4 e | o 251114
2020R/L-04 4.125| 20 20 125 | 20 | 204 | 25 SP400 e | o 251116
2525R/L-04 4.125| 25 25 150 | 25 | 254 | 25 M6x%20 L5 e | o 251118
3225R/L-04 4.125| 32 32 170 32 25.4 25 e | o 251120
ZQ 2525R/L-05 5.125| 25 25 150 | 25 | 25.5| 30 e | o 251122
3232R/L-05 5.125| 32 32 170 | 32 | 325] 30 SP500 MEx20 Lo e | o 251124
ZQ 2525R/L-06 6.4 25 25 150 | 25 | 25.5| 35 e | o 251126
3232R/L-06 6.4 32 32 170 | 32 | 325] 35 SP600 MEx20 Lo e | e 251128




Cut-off Turning Tool Lathe Cut-off Tool

Cut-0O oolholde
@ 0L

&

Cut-Off Processing

Cut-Off P i
u rocessing = (Inserts): A36/B83 (Toolholder Parts): P01-P04

= (Toolholder Parts): P01-P04 R-Type
Order
Number
SPB 26-2 2 1.6 26 26 21 SP200,200R/L e [254100
26-3 3 2.4 26 26 21 SP300,300R/L o |254102
26-4 4 3.2 26 26 21 SP400,400R/L o (254104
26-5 5 4.2 26 26 21 SP500,500R/L e |254106
SPB 32-2 2 1.6 32 32 27 SP200,200R/L e [254108
32-3 3 2.4 32 32 27 SP300,300R/L e |254110
32-4 4 3.2 32 32 27 SP400,400R/L o |254112
Order 32-5 5 4.2 32 32 27 SP500,500R/L o |254114
Number 32-6 6 5.2 32 32 27 SP600,600R/L e |254116
KTKHR/L 1010F-2S | 2.2 | 10 | 10 | 80 | 10 | 10 | 15 o | o [251500 UGHN Cut-Off Processing Toolholder
1212H28 | 22 | 12 | 12 [ 100 | 12 | 12 | 65| _ o o | o 251502 UGHN 262 2.2 1.60 26 110 21.4 KGT2N,KGT2R/L e [254200
1612H-2S | 2.2 | 12 | 16 | 100 | 16 | 16 | 165 . . ® | @ 251504 263 3.1 2.35 26 110 21.4 KGT3N,KGT3R/L o 254202
1616H-25 | 2.2 | 16 | 16 | 100 | 16 | 16 | 165 | "<N2P.TKRL2P o | o |251506
2012K28 | 2.2 | 12 | 20 | 1251 20 | 20 | 19 ® | ® 251508 265 5.1 4.00 26 110 21.4 KGT5N,KGT5R/L o |254206
2020K-28 | 2.2 | 20 | 20 | 125 | 20 | 20 | 19 ® | ® [251510 UGHN 322 2.2 1.60 32 150 25.0 KGT2N,KGT2RI/L o [254208
KTKHRL 1612H-38 | 3.1 | 12 | 16 | 100 | 16 | 16 | 18 | ® 251512 323 3.1 2.35 32 150 25.0 KGT3N,KGT3R/L ® 254210
150, o5 e o o e e e P R RS ® | & 251514 324 4.1 3.20 32 150 25.0 KGT4N,KGT4R/L e |254212
2012K-38 | 3.1 | 12 | 20 | 125 | 20 | 20 | 205 | o 00 ® | ® 251516 325 5.1 4.00 32 150 25.0 KGT5N,KGT5RIL ®  [254214
2020K-38 | 3.1 | 20 | 20 | 125 | 20 | 20 | 26 ' o | o 251518 .
2525M3S | 3.1 | 25 | 25 | 150 | 25 | 25 | 265 o | o |251520 KTKB Cut-Off Processing Toolholder
KTKHRIL 2012K4S | 4.1 | 12 20 | 125 | 20 | 20 | 22 ® | ® 251522 KTKB 19-1SS 1.6 1.2 19 86 15.7 TKN1.6,TKR/L1.6 e [254300
2020K-4S | 4.1 20 | 20 | 1251 20 | 20 | 31 | TKN4TKRILA ® | ® 251524 KTKB 26-1SS 1.6 1.2 26 110 21.4 TKN1.6,TKR/L1.6 e [254302
2525M4S | 4.1 | 25 | 25 | 150 | 25 | 25 | A ® | ® |251526 KTKB 32-1SS 1.6 1.2 32 150 25 TKN1.6,TKR/L1.6 e [254304
KTKHR/L 2525M-5S 5.1 25 25 | 150 | 25 25 | 395 | TKN4.8,TKN5TKRILS5 e | e 251528 KTKB 19-2S 22 1.8 19 86 15.7 TKN2, TKR/L2 e 254306
Automatic Lathe With Self-locking 26-2S 2.2 1.8 26 110 21.4 TKN2,TKR/L2 e |254308
KTKHR/L 1010K-2-125S 2.2 10 10 125 10 10 15 TKN2, TKR/L2 e | ® |251600 26-3S 3.1 2.6 25 110 21.4 TKN3,TKR/L3 ° 254310
1212M-2-125S 2.2 12 12 150 12 12 15 | TKN2-P,TKR/L2-P e | ® 251602 26-4S 4.1 3.4 26 110 21.4 TKN4,TKR/L4 ° 254312
1616M-2-150S | 2.2 | 16 | 16 | 150 | 16 | 16 | 18 | TKN24 TKRIL24 ® | ® 1251604 26-5S 5.1 4.2 26 110 21.4 TKN5,TKR/L5 o |254314
KTKHR/L 1616M-3-1508 | 3.1 | 16 | 16 | 150 | 16 | 16 | 225 TEe TR e | @ [251606 KTKB 32-28 2.2 1.8 32 150 25 TKN2,TKR/L2 o (254316
Automatic Lathe With Screw Fastening 3238 3.1 2.6 32 150 25 TKN3,TKR/L3 o |254318
KTKHR/L 0808K-1.6-125B| 1.6 8 8 125 8 8 5 e | e 251700 32-4S 4.1 3.4 32 150 25 TKN4, TKR/L4 e |254320
1010K-1.6-125B| 1.6 10 10 | 125 | 10 10 10 Max12 T15 e | o 251702 32-5S 5.1 4.2 32 150 25 TKN5,TKR/L5 o |254322
1212M-1.6-150B| 1.6 12 12 | 150 | 12 12 | 125 e | o 251704 32-6S 6.4 5.4 32 150 25 TKN6,TKR/L6 e |254324
1414M-16-1508] 1.6 | 14 | 14 | 150 | 14 | 14 | 13 ® | ® 251706 KTKBRIL 32-8S 8.0 6.8 32 150 25 TKN8,TKR/L8 o (254326
KTKHRIL 1010K-2-125B | 2.2 | 10 | 10 | 125 | 10 | 10 | 10 | TKN2TKRIL2 Mdx12 T15 e | e 251708 32-9s 9.6 8.0 32 150 25 TKN9,TKR/L9 e |254328
1212M-24150B | 2.2 | 12 | 12 | 150 | 12 | 12 | 125 | TKN2-P,TKRIL2-P o | e (251710 )
1616M-2-1508 | 2.2 | 16 | 16 | 150 | 16 | 16 | 16 | TknoaTKRIL24 | MBx12 L4 o | e |251712 SCTH Cut-Off Processing Toolholder
KTKHRIL 1616M-3-150B | 3.1 | 16 | 16 | 150 | 16 | 16 | 16 TOATGL M5x12 L4 o | o |251714 SCTH 26-3 3 2.2 25.35 | 110 21.16 GT30 e [254400
UGHRI/L Cut-Off Processing Toolholder 26-4 4 32 | 2514 | 110 | 21.05 6140 o [254402
SCTH 32-3 3 2.2 31.41 150 24.8 GT30 e |254404
UGHR/L  1616H2 2.2 16 16 16 16 | 16.3 | 16 KGT2 M5%20 L4 e | e 751200 32-4 4 3.2 31.14 150 24.66 GT40 ° 254406
2020K2 2.2 20 20 20 20 | 20.3 21 M6%20 L5 e | & 051202 32-5 5 4.2 30.87 150 24.53 GT50 ° 254408
UGHR/L  1616H3 3.1 16 16 16 16 16.4 18 M5%20 L4 e | o 251204 32-6 6 52 30.61 150 24.39 GT60 ° 254410
2020K3 31| 20 | 20 | 20 | 20 |20.4| 29 KGT3 MEx20 L5 e | o 251206
2525M3 | 3.1 | 25 | 25 | 25 | 25 |25.4 | 38 o | o |251208
25 | 2 .
UGHRLL  2525M4 | 4.1 5 | 25 | 25 [ 255 38 KGT4 M6x20 L5 e [ e 251210 SLTBN Cut-Off Toolholder
CTWR/L Cut-Off Processing Toolholder
CTWR/L 2020-3 3 | 20 [ 20 | 20 | 20 [20.25] 14 o [ o [251300
25253 3 | 25 | 25 | 25 | 25 |25.25| 14 CTb3 M6>20 L5 o | o [251302
CTWR/IL 20204 4 | 20 | 20 | 20 | 20 [20.25] 14 o | o 251304
25254 4 | 25 | 25 | 25 | 25 |25.25| 14 CTD4 MEx20 LS o | e 251306 Features: _
GTWRIL 25055 | 5 | 25 | 25 | 25 | 25 [25.05] 20| cTb5 | Wex20 (5 el e 251308 R
. according to customer requirements,
CGSSR/L Cut-Off Processing Toolholder and the processing depth can be adjusted.
CGSSR/L 1616-30D 3 16 | 16 16 | 16 | 16.5 | 22 GE30,GE30RIL e | o 251400
2020-30D 3 20 | 20 20 | 20 | 205 | 22 GE30AL GT30 M6x20 L5 e | e (251402 Order
2525-30D | 3 | 25 | 25 | 25 | 25 |255| 2 J, e | o 251404 Number
CGSSRIL 161640D | 4 | 16 | 16 | 16 | 16 |16.6 | 25 | GE40,GE4ORL o | o 251406 SLTBN 16-26 26 | 21.4 | 16 13 | 43 | 53 | 86 12 30 e [254501
202040D | 4 | 20 | 20 | 20 | 20 |20.6 | 25 | GeqoaLGTHo M6x20 L5 o | o |251408 20-26 26 | 21.4 | 20 9 43 | 53 | 86 19 38 e 254500
2525-40D | 4 25 | 25 | 25 | 25 |256| 25 GR40 ® | @ 251410 20-32 32 | 248 | 20 13 50 5.3 | 100 19 38 | M6x30 L5 e |254502
CGSSRIL 161650D | 5 | 16 | 16 | 16 | 16 |16.7 | 25 | GE50,GESORL o | o [251412 SLTBN 25-26 26 | 21.4 | 25 5 45 | 53 | 100 | 23 42 e 254504
2020-50D [ 5 | 20 | 20 | 20 | 20 |20.7 | 25 | GespALGTSO M6x20 L5 o | o (251414 25-32 32 | 248 | 25 8 50 | 53 | 110 | 23 42 o |254506
2525-50D | 5 25 | 25 | 25 | 25 |25.7| 25 GRS0 ® | ® 251416 SLTBN 32-32 32 | 248 | 32 5 54 5.3 110 29 48 e 254508




Cylindricl turning system External Cut-off / Grooving turning tool

(Cutting Speed) : m/min”' (mm)
PCD CBN-K CBN-S ZN60 ZN90 ZKO01 ZC250 ZC251 ZC328 ZP152 ZP153 ZP163 ZK50 ZK50S
CcVvD CcVvD CcVvD MGEHR
150-600 150-800 70-500 150-500 150-600 70-250 100-250 80-300
150-350 150-500 70-250 80-350 100-400 70-150 80-150 60-200
HRCA6256 10-30 20-60 20-60 20-80
M 200-300 200-350 50-150 70-150 50-200
300-1500 100-300 100-350 200-300 200-350
K 400-800 100-200 | 100-250 150-200 = 150-250 External Cut-Off/Grooving
300-1200 300-1200
HB50-70 500-1500 300-1500 = (Inserts): A35-A36 (Toolholder Parts): PO1-P04
HETCIT 300-800 300-800
300-1000 300-1000
S 10-30 10-30 20-50
400-600 400-600
. 100-200 100-200 2050 20-60 30-80 MGEHR/L 1010-1.5 1.5 e | @ | 252100
121245 | 15 | 12| 12 | 100 | 12 | 12 | 15 M4x16 L3 MGMN150 | o | e |252102
Cutting Environment @ Stable Cutting @ GeneralCutting 3 Unstable Cutting Cutting Environment @ Stable Cutting @ GeneralCutting 3 Unstable Cutting ;g;g':: :]Ig ;g ;g :I]gg ;g ;g 12 M5X20 L4 mgﬁm:}gg : : 32518;
P Steel 00 Z0x@ P Steel 00 Z0x%@ 2525_1.5 15 25 25 150 25 25 15 M6%20 L5 ° ® | 252105
M Stainless Steel [¢] #$O M Stainless Steel [¢] #$O MGEHR/L 1010-2 2 10 10 100 10 10 16 Py ® (252104
K LTy hd hd * K fron hd hd # 1010-2T10 2 10 10 | 100 10 10 10 e | e 252150
N umizinc/Plastic/wood hd © N ! umizinc/Plastic/wood ° © 1010-2T20 2 10 10 | 100 10 10 20 M4x16 L3 e | o | 252151
S Carbide/Powder Metallurgy [} 20 S Carbide/Powder Metallurgy [ ] E ) 1212_2 2 1 2 1 2 1 OO 1 2 1 2 1 6 o o 2521 06
- Titanium/Superalloy/Carbon Fiber . 2@ - Titanium/Superalloy/Carbon Fiber ° X 1212-2T10 2 12 12 | 100 12 12 10 MGMN200 | ® | ® | 252152
= Dimension | @ _orom 3 Dimension | o= o 1616-2 2 16 | 16 | 100 | 16 | 16 | 16 V5%20 P MGGN200 | ® | e [252108
5 Dimensioning Product Image Specification 855§é§§EE 5 Dimensioning Product Image Specification Sii‘gégﬁgg 1616-2T10 2 16 16 100 16 16 10 MRMN200 [ ® | 252153
s Wire| L |B|H|OEOONNNNNN  © W|re| L |B|H|O[EOONNNNNN 2020-2 2 20 20 | 125 20 20 16 M6x20 L5 e | o 252110
e 2020-2T20 2 20 20 | 125 20 20 20 M5x20 L4 e | e 252154
L Y e } AL ‘ 2525-2 2 25 | 25 | 150 | 25 | 25 | 16 M6x20 L5 o | o 252111
i@ 2 2006 |20]0ioo| 1655 - ceeeee £ R +:oUN ol et et D] ol I 25252120 | 2 25 | 25 [ 150 | 25 | 25 | 20 M5x20 L4 o | |252155
FI A = L Fed Ed i bl 1NN B} 300-T |30|0f210p s[4 - MGEHRIL 1616-2.5 25 | 16 | 16 | 100 | 16 | 16 | 17 e | o 252112
g n P 300-G 3004 (210/2.35 4.8 2 200-T Soloalorolaslas| - M5x20 L4
v (| 400-G | 4004 210[33| 48] - 5007 |50|062604 1|58 - 1616-2.5T10 | 2.5 16 16 | 100 | 16 16 10 e | e 252156
b 500-G 500.8(26.0|4.1|58] - “ N
=i oSN o] Kt o Y B I 600-T  |6008[26050] 58] - 2020-2.5 25 | 20 | 20 [ 125 | 20 | 20 | 17 M6x20 L5 VGMN2so | @ | @ 252114
2020-2.5T10| 2.5 20 20 | 125 20 20 10 M5x20 L4 MGGN250 e | o | 252157
MGMN 200-M 20102160/ 12135/ - 2020-2.5T25| 2.5 20 20 125 20 20 25 MRMN250 e | ® 252158
e oot aaie 0| L. ToasosTio| 25 | 25 | 25 1180 [ 28 T 25 1 10 [ e = e | o |252150
2 300-M 30 [04(21.02.35/ 48| - eeecee o W -
3 -03- ) B o MGMN 200-H 5| - : : M5x20 L4
350-05M 1301031210129 48 - - TR 000 |50]02| 2 oo ae] - 252525T25| 2.5 | 25 | 25 | 150 | 25 | 25 | 25 ) o | e |252160
400-M 40|04 (210/33|48| - 8 [ ‘S‘gg:: ‘S‘g gi gg i? ‘5‘2 i MGEHR/L 1212-3 3 12 12 | 100 12 12 20 M4x16 L3 e | o | 252117
: el e e D 1 I : " 1616-3 3 16 | 16 | 100 | 16 | 16 | 20 o | o |252118
600-M 6008(260/50|58| - > 1616-3T10 3 16 16 | 100 16 16 10 e | o 252161
800M |80 08]310/60]65) - “M° 16163725 | 3 16 | 16 | 100 | 16 | 16 | 25 M5x20 L4 o | o |252162
ef ] re 1616-3T30 3 16 16 | 100 16 16 30 e | e 252163
. ° P 2020-3 3 20 | 20 | 125 [ 20 | 20 [ 20 M6x20 L5 o | o 252120
N i P P T e b ] v P P AT e b 20209710 |3 20 [ 20 [ 125 [~20 [ 20 [ 10 MGNING0O | o | o | 252104
| TIreras b e o e e e | Cosoes (oo co|ig 20203725 | 3 | 20| 20| 125 | 20 | 20 | 25 M5x20 L4 MGGN300 | e | ® |252165
£ 'IAW| 400-4D-PS | 4.0(0.3[21.0[3.3|4.8|4.0 £ @Hﬁ 400-4D-PS | 4.0(0.3[21.0[3.3|4.8|4.0 2020-3T30 3 20 20 | 125 20 20 30 MRMN300 o | @ | 252166
I T 500-4D-PS |5.0]|0.3(26.0[4.1|58(4.0 7. T 500-4D-PS |5.0]|0.3(26.0[4.1|58(4.0 2020_31_35 3 20 20 125 20 20 35 ° ° 252167
2525-3 3 25 25 | 150 25 25 20 M6x20 L5 e | @ | 252122
2525-3T10 8] 25 25 | 150 25 25 10 e | ® 252168
2 2 MGMN! 2001-6 201021160/16]36160 M MM 2525-3T25 3 25 25 150 25 25 25 e | o | 252169
B M eeseeee 3 300L-6
MOMN SO0k |00 [2: o et |0 O W 3008 [50[02[z1 046 (50| e eeens 25253730 | 3 | 25 | 25| 150 | 25 | 25 | 30 M5x20 L4 o | o |252170
g 300R8 |30[02[2100235 48|80 ceceee PE==EC Zggll:js 3.0|0.2|21.0[2.35 4.8 15.0 2505.3T35 3 25 25 | 150 25 25 35 o | o |252171
2 = 2 40(0.3(21.0/3.3|48|4.0
: iggsjts j:g gé 21 823335 3:2 14560 ¢ " & 500L-4 |50[03[260{4.1]58|40 3232-3 3 32 32 | 170 32 32 20 M6x20 L5 e | @ |252124
S00R-4  |5.0103126.0/4.1/58)4.0 °N° I MGEHR/L 16164 4 16 16 100 16 16 20 e | ® 252126
1616-4T10 4 16 16 | 100 16 16 10 e | e 252172
M5x20 L4
s B MGGN 150R-8 |15 [0.15/16.0| 12|35 | & .o .o e s e MGGN 150L-8 |15 [0.15/16.0| 12|35 | & .o .o 1616-4T25 4 16 16 100 16 16 25 e | o 252173
g v % 200R-8 20]02(16.0[16|35] 8° o o g /C[E‘L]jw 200L-8 2.0 |02{16.0/1.6|35| 8° L] e 1616-4T30 4 16 16 100 16 16 30 ° ® | 252174
FAN P RUSS— R kv e o3 et I S WU I ) R - e e e e o B 20204 4 | 20| 20 [125] 20 | 20 | 20 M6x20 L5 o | o 252128
§ 400R-8 4.0(04(21.0/33|48| 8 L L § gggt-g 4.0 (0421033 |48| 8° LI oo 2020-4T10 4 20 20 125 20 20 10 ° ® | 252175
g - 1 1 8| 8 L) oo g 50 041|568/ 8° .o .o
: = 0 poose il boda bl bod Y R SAR A e S el b e B ) 20004725 | 4 | 20 | 20 | 125 | 20 | 20 | 25 M5x20 L4 MGMN400 | ® | e |252176
ik 2020-4T30 4 20 20 | 125 20 20 30 MGGN400 e | o | 252177
MGMN ;gg ;5 0125128 lg gg oRc 2020-4T35 4 20 20 125 20 20 35 MRMN400 e | e 252178
. - s S e 20 |25]02}16520/555 - |o e e 25254 4 25 | 25 | 150 | 25 | 25 | 20 M6x20 L5 e | o 252130
1.5 (0.15/16.0{ 1.2 | 35| - L L 1 P & - . - |e .
e W 200 |20]02]160] 16|35 - == 30002 130[0aEoEgs] S leee 25254110 | 4 25 | 251150 | 25 | 25 | 10 o | o 252179
sl e 250 2502(185|20(385| - ee oo 2 Ree 35003 [35(03[210[235 45| - |e e e 2525-4T25 4 25 25 | 150 25 25 25 M5x20 L4 e | @ |252180
PO b IS A4 £ P P | pr S P KA DI M 25254730 | 4 | 25| 25| 150 | 25 | 25 | 30 o | o|252181
2 | 500 50 |08|260(41|58] - ee ee = W 2 ggg 04 ]501041260141158] - oo @ 2525-4T35 4 25 25 | 150 25 25 &5 ® | o |252182
JI 600 60|08/260|50|538] - ‘B BB g 80  |e0|05|x050|58| < e e 32324 4 32 | 32 [ 170 | 32 | 32 | 20 M6x20 L5 o | o 252132
B b e e e s e
-5 5 o | o
. o B N Vo I B o B M 20205135 | 5 | 20| 20| 125 | 20 | 20 | 35 M5x20 -4 MGMN500 | e | o 252184
il M»C MRMN200M |20 10[160 15|35 - LT 250 2512518520385 - |o o o 25255 5 25 | 25| 150 | 25 | 25 | 25 M6x20 L5 MGGN500 | e | e |252136
;| = B ool olrerssl - P e | om ol e 2525570 | 5 | 25| 25| 150 | 25 | 25 [ 30 | iseno 9 MRMNS00 |[e | s |252185
H 500-M 50|25[260/4.1|58] - - B a 400 40|20[21.0/33]48]| - 2525-5T35 5 25 25 | 150 25 25 35 ® | o 252186
== Ty SooM |60ja0eg 80108 - @: & = Pt Ed e B B I 32325 5 32 | 32 [ 170 | 32 | 32 | 25 M6x%20 L5 o | o [252138
7y Sl 700 70|35(260/50(58] - o e e MGEHR/L 2020-6 6 20 20 | 125 20 20 25 MGMNG600 e | o 252139
g00 e i 25256 6 25 | 25| 150 | 25 | 25 | 25 M6x20 L5 MGGN600 | e | e |252140
N . N . 3232-6 6 32 32 | 170 32 32 25 MRMNG600 e | @ |252142
8, s MGEHR/L 2525-8 8 25| 25| 150 | 25 | 25 | 28 MGMNB800 | ® | ® [252144
: @EE« Wi MRGN 400-A  [4.0/2.0121.0/3.3 /4.8 - N H o — - MVGN 8N-A-R1.2| - |12[300[60[69]| - . 3232-8 8 32 32 | 170 32 32 28 MEx20 L5 MRMN800 | ® | ® | 252146
&k PO 50125260/ 4.1/58) - N O g 8N-AR1.6| - | 163006069 .
E 3 600-A 6.0(3.0|26.0[5.0|58| - . H
% @H ﬁ 008 BO1401060165] - ° % @ H W Note: when using the extended depth cutter, please pay attention to the Insert interference and grind the Insert
ml i

B88




Grooving / Cut-off Turning Tool External / Internal Grooving turning tool

MGEHR..R
MGIVR (Circular arc strengthening type)
External Cut-Off/Grooving
Internal Grooving Processing = (Inserts): A35-A36 (Toolholder Parts): P01-P04 R-Type
Order
Number
MGEHRIL 1010-1.5R 1.5 10 10 | 100 | 10 10 15 o | o | 252170
121241.5R 15 12 12 | 100 | 12 12 15 mgl\e/lmgg M4x16 L3 o | o 252172
1616-1.5R 1.5 16 16 | 100 | 16 16 15 MRMNAZ0 M5x20 4 o | o | 252174
2020-1.5R 1.5 20 20 | 125 | 20 20 15 M6x20 5 o | o | 252176
MGEHRIL 1010-2R 2 10 70 | 100 | 10 10 16 ® | e | 252178
12122R 2 12 12 | 100 | 12 12 16 VP M4x16 L3 o | o | 252180
1616-2R 2 16 16 | 100 | 16 16 16 MRMNZ00 M5x20 4 o | o 252182
20202R 2 20 20 | 125 | 20 20 16 M6x20 5 o | o | 250184
MGEHRIL 1616-3R 3 16 16 | 100 | 16 16 20 | MGMN/MGGN304 M5x20 4 ® | ® | 252186
2020-3R 3 20 20 | 125 | 20 20 20 MRMN300 M6x20 L5 o | o | 252188
R-Type
= (Inserts): A35-A36 (Toolholder Parts): P01-P04 MGEVR
Order
Number
MGIVR/L 2016-1.5 15 | 35 16 12.4 | 160 35 14.8 M4x15 L3 e | e [256600] External Cut-Off Processing
2016-15T8| 1.5 | 8 16 | 12.4| 160 | 38 | 14.8 vGMN1so | ® | [256650
2520-1.5 15 | 35 20 14 180 45 18.4 MGGN1 e | @ (256602 = (Inserts): A35-A36 (Toolholder Parts): P01-P04 R-Type
2520-15T8| 1.5 | 8 | 20 | 14 | 180 | 45 | 18.4| o o0 4 MRMN1§8 o | o 256652
292515 |15 |35 | 25 |17.25) 200 | 45 | 23.4 e | o |256604 Nﬂ:g;r
2925-1.5T8 | 1.5 8 25 |17.25| 200 50 23.4 e | ® (256653 L y
MGIVR/L 2016-2 2 |45 16 | 12.4] 160 | 35 | 14.8 o | o [256606 MGEVRIL  1616-1.5 1.5 16 16 | 100 | 16 | 213 | 5 M5x20 L4 MoMNiso | @ | @ | 252230
e | o 8 RNy = e M4x15 L3 o | o 256654 202015 15 20 20 | 125 | 20 | 26.3 | 6 V6x20 s MGGN150 | ® | ® | 252232
2525-1.5 1.5 25 | 25 | 150 | 25 | 33 6 MRMN150 | ® | ® | 252234
25202 2 |45 ] 20 | 14 | 180 | 45 | 18.4 MGMN200 | ® | ® 256608 VGEVRL — fe1e2 ST re T 16 00 6 215 = o e 522500
2520278 | 2 | 8 | 20 | 14 | 180 | 45 | 18.4 V520 L MGGN200 | e | ® |256656 16162110 | 2 16 | 16 | 100 | 16 | 262 | 10 M5x20 L4 MGMN200 | ® | @ | 252235
2025-2 2 | 45| 25 |17.25| 200 | 45 | 23.4 MRMN200 | |  [256610 2020-2 2 | 20| 20 [ 125 ] 20 | 263] 6 MEx20 — MRMNZ00 | o | o | sao0us
20202111 | 2 20 20 | 125 | 20 | 31.5 | 11 M5x20 L4 o | o | 252036
2925218 | 2 8 25 |17.25| 200 | 50 | 23.4 ¢ | 1256657 2525-2 2 25 25 | 150 | 25 33 6 M6x20 L5 e | o | 252003
3732-2T8 | 2 8 32 | 205 250 | 70 30 M6x20 L5 ® | & 256658 MGEVRL 161625 | 2.5 16 16 | 100 | 16 [ 213 | 5 M5x20 L4 MGMN250 | ® | ® [ 252204
MGIVRIL 201625 |25 |45 | 16 | 12.4| 160 | 35 | 14.8 o [ e (256612 202025 | 2.5 20 20 | 125 | 20 | 26.3 | 6 VEx20 s MGGN250 | ® | ® | 252206
2016-25T8| 25 | 8 | 16 |13.25| 160 | 38 | 14.8| M415 L3 o | o |256659 252525 | 2.5 | 25 | 25 | 150 | 25 | 33 | 7 x MRMN250 | e | e | 252207
MGEVRL _ 1616-3 3 16 16 | 100 | 16 | 21.3 | 7 e | o | 250008
252025 |25 |45 | 20 | 15.6 | 180 | 45 | 18.4 MGMN250 | e | ® 256614 teearal 3 | 16l 16l 100 | 16 | 295 | 13 M5x20 L4 o | o | 520050
2520-2.5T8 | 2.5 | 8 20 16 | 180 | 45 | 18.4 MSx20 L4 MGGN250 ® | ® (256660 2020-3 3 20 20 | 125 | 20 | 26.3 7 M6x20 L5 mgg“ggg e | o | 25010
292525 (25 |45 | 25 | 18.9| 200 | 45 | 23.4 MRMN250 ® | ® |256616 gggggﬂs g ;g gg 158 gg 33555 175 mgxgg tg MRMN300 OO 5235?3
X [ ] [
29252578125 | 8 | 25 | 17.5] 200 | 50 | 234 ® | ® [256661 25253115 | 3 | 25 | 25 | 150 | 25 | 405 | 15 M5x20 L4 o | o | 252239
3732-2.5T8 | 2.5 8 32 | 20.5| 250 70 30 M6%20 L5 ® | ® 256662 MGEVRIL 16164 4 16 16 | 100 16 21.3 7 V5x20 L ® | o | 250014
MGIVR/L 2016-3 3 5 16 | 14.5| 160 | 35 | 14.8 o | e (256618 16164T13 | 4 16 16 | 100 | 16 | 295 | 13 ox e | o | 252240
v 20204 4 20 20 | 125 | 20 | 26.3 | 7 M6x20 5 MGMN400 | ® | ® | 252216
S g 2 L 11556 128 e 11'2 M4x15 L3 : : Gsties 20204715 | 4 20 20 | 125 20 | 355 | 15 M5x20 L4 MGGN400 ® | o | 252041
2316-3 16 : 35 - 256620 25254 2 25 | 25 | 150 | 25 | 33 7 M6x20 L5 MRMN400 | o | o | 252218
2520-3 3 6 20 15.6 | 180 45 18.4 o | o 256622 2525-4T15 4 25 25 150 25 40.5 15 M5x20 L4 ® | e | 252243
2520-3T8 | 3 | 8 | 20 | 15.6| 180 | 45 | 18.4 MGMN300 | ® | ® 256664 MGEVRIL  2020-5T6 | 5 200120 1 125 | 20 | 263 | 6 MGMNS00 | w | o | aoeed®
31253 3 |6 | 25 | 189|200 | 50 | 23.4| MO0 L4 MGGN300 | e | ® 256624 0205Ts | 5| 20| 20125 20| 385 15 M5x20 L4 MGGNs00 | o | o | 252247
31253710 | 3 | 10 | 25 | 18.9] 200 | 50 | 23.4 MRMN300 | ® | ® |256665 25255715 | 5 25 | 25| 150 | 25 | 405 | 15 MRMNS00 | o | o | 252049
3732-3 3 6 &2 21.5| 250 65 30 ® | o 056626
37323712 | 3 | 12 | 32 | 21.5| 250 | 65 | 30 M6x20 L5 o | o 256666 SMR..R..
4540-3 4 8 40 27.2 | 300 70 38 M8x30 L6 ® | ® V56627
4540-3T15 | 4 15 40 27.2 | 300 70 38 ® | ® 056667
MGIVR/L 2016-4 4 6 16 15 160 45 14.8 Max15 L3 ® | o 56629
2016-4T8 4 8 16 15 160 38 14.8 ® | ® 256668
2520-4 4 6 20 15.6 | 180 45 18.4 ® | o D56628 )
2520478 | 4 | 8 | 20 | 15.6 | 180 | 45 | 18.4 Ex20 L o | e 256669 External Grooving
31254 4 6 25 18.9 | 200 50 23.4 MGMN400 ® | ® 256630 == (Inserts): A35-A36 (Toolholder Parts): P01-P04
3125-4T10 4 10 25 18.9 | 200 50 23.4 MGGN400 ® | o V56670
37324 4 6 32 | 215 250 | 65 30 M6%20 L5 MRMN400 e | ® 256632 Order
37324712 | 4 | 12 | 32 | 21.5] 250 | 65 | 30 o | ® 256671 , Number
45404 4 8 40 | 27.2 | 300 70 38 M8x30 L6 ® | ® 256633 SMR1616R/L-2 16 16 100 | 26 16 18 2 MRMN200 o | o | 256500
45404715 | 4 | 15 | 40 | 27.2 | 300 | 70 38 ® | ® 256672 SMR1616R/L-3 20 20 100 | 30 16 19 3 M5>20 L4 o | o | 256502
194 2 234 olo SMR2020R/L-3 20 | 20 125 | 30 | 20 23 3 o | o | 256504
MR ggg_gﬂo g 180 gg 134 288 % 23.4 M5x20 L4 oo gggggg SMR2525RIL-3 25 1 25 ) 150 30 ) 25 | 28 | 3 e O | O | 256506
= - 50 : MGMN500 SMR3232R/L-3 32 | 32 | 170] 30 | 32 | 35 | 3 o | o | 256508
3732-5 5 8 32 21.5 | 250 65 30 M6%20 L5 MGGNS500 ® | ® 956636 SMR2020R/L-4 20 20 125 | 30 20 24 3 o | o | 256510
3732-5T12 | 5 | 12 | 32 | 21.5| 250 | 65 30 ManNaoo |8 | @ [256674 SMR2525R/L-4 25 | 25 150 | 30 25 | 29 3 MRMN400 o | o | 256512
SMR3232R/L4 32 32 170 | 30 32 36 3 o | o | 256514
4540-5 5 10 40 | 27.2| 300 70 o8 M8x30 L6 | ® |256637 SMR2020R/L-5 20 20 125 | 30 20 25 4 M6x22 LS o | o | 256516
4540-5T15 | 5 | 15 | 40 | 27.2| 300 | 70 38 ® | ® 256675 SMR2525R/L-5 25 25 150 | 30 25 30 4 MRMN500 o | o | 256518
MGIVR/L 3125-6 6 8 25 19.4 | 200 50 23.4 M5x20 L4 MGMN600 ® | ® (256638 SMR3232R/L-5 32 32 170 30 32 37 4 o | o | 256520
3732-6 6 | 8 | 32 | 21.5] 250 | 65 | 30 M6x20 L5 MRMNGOO | @ | ® |256640 SMR2525R/L-6 25 | 25 | 150 30 | 25 | 31 4 VRMNGOO o | o | 256522
MGIVRIL 37328 | 8 | 10 | 32 | 23.5] 250 | 65 | 30 M6x20 L5 MGMN800 | o | e [256642 N e e T T L TS e Il
MRMN800
4540-8 8 10 40 | 27.2 | 300 70 38 M8x30 L6 MRMN800 ® | ® 056644 SMR3232R/L-8 32 32 170 | 30 32 40 5 o | o | 256528

B89




Grooving / Cut-off Turning Tool External / Internal Grooving turning tool

TTIR

-]
O

oDmin “_]: | Tmax N
WeeH= 11 L'ad

Cutting Environment @ Stable Cutting @ GeneralCutting 3§ Unstable Cutting Cutting Environment @ Stable Cutting @ GeneralCutting 3§ Unstable Cutting
5 Internal Grooving Processing
P Steel 00 20%@ Steel 00 Zex©
M Stainless Steel o B0 M Stainless Steel o 20 = (Inserts): A40/B91 (Toolholder Parts): P01-P04 R-Type
K Iron e o E3 K Iron e o E3
N i Pla d . M N i im/Zinc/Plastic/Wood . o Order
S Carbide/Powder Metallurgy ° 2@ S Carbide/Powder Metallurgy ° 2@ ; - - Number
>- Titanium/Superalloy/Carbon Fiber 'Y ') >- Titanium/Superalloy/Carbon Fiber ° P TTIRIL 16-2C 2 85 16 16.5 160 40 14.8 M4x16 L3 S ® 256800
3 D —o 3 D oo x
g Dimensioning | Product Image | Specification e ﬁzgggﬁgf?— g Dimensioning | ProductImage | Specification e 8%%’8533"‘3?— 16-2T8 2 8.0 16 12.4] 160 38 14.8 : : 256860
3 wlre|L|e|n|o REBERRRGS 5 wlre|L|e|n|o REBEIRRGS 20-2C 2 6.0 20 15.8| 160 40 18.4 TDC2 256802
50 — =T S TEE 20-2T8 2 |80 20 14 | 160 | 45 18.4 M5x20 La TSC2 ® | o (256861
. 3 50|02/o00[24[47] - cee oo 25-2C 2 |50 | 25| 17.5| 200 | 40 | 23.4 TDJ2 o | ® 1256804
. 5 5 50|03[250[40| 52| - B-BE 5, /¢ 25-2T8 2 |80 | 25 |17.25 200 | 50 | 23.4 o | ® 256862
- EEEE : H i R A g TOT @ |solrsla;) sl e e e 32:218 2 [8.0 | 32 | 205 250 | 70 | 30 M6x25 L5 o | o 256863
R ——— ool 5 m.0 50 50(25| 25| - |59] - o e e TTIRL 16-3T8 3 /8.0 16 15 | 160 | 38 14.8 M4x16 L3 e | o (256864
R |=A.= T 2 201021200/ 17|47 - 1 @%E’, 20-3C 3 [6.0] 20 | 158 160 | 40 | 18.4 ® | ® 256806
7l 2 . 4010312003047 - R ) 20-3T8 3 |80 20 | 15.6| 160 | 45 18.4 ® | ® (256865
6 60]03250/50| 52| - 25-3C 3 [5.1 25 17.5| 200 40 23.4 M5x20 L4 e | e |256808
TDC3
0 TDC 2-6R 2 |02|200[17[47] 6 . 0 e TDC 2-6L 2 |02[200|1.7|47| 6° . 25-3C-T8 3 8.0 25 | 21.5| 200 | 40 23.4 TSC3 ® | ® 256812
| et S e i N Y o [ e ; 253110 | 3 |10 | 25| 186] 200 | 50 | 234 TDJ3  |'e | e |256866
B [ ‘% 3-6R 3 |02|200[24[47] 6° . : [ % 3-6L 3 |02[200|24|47 | 6° . 32-3C 3 | 4.7 32 19.8| 250 60 30 TTDDXT%s ® | o 756810
3 e - - . 3 _ 3-15L 3 10.2(20.0{2.4|4.7|15° .
% _ i-lsRR 431 gi;ggig 3.; 145= . a 4-4L 4 (03(20.0[3.0[47]|4° . 32-3C-T10 3 10 32 27 250 60 30 ® | ® 256814
d n $1R | 4 |o3i20030 4715 s @Eﬁ 415 4 03[200| 30|47 |15° . 32-3T12 3 |12 | 32| 215| 250 | 65 30 M6x25 L5 o | o (256867
e U ’ = ! N ) 40-3c-T12 | 3 |12 | 40| 33| 300 | 65 | 38 o | o |256816
o TDC 2 20022000 1.7[47] - . 40-3T15 3 15 40 27.2| 300 70 38 ® | ® 256868
3 3.0(0.2|20.0[24|4.7| - .
re 5, 7\ 4 40|03|200[3.0(47]| - . TTIRIL 16-4T8 4 8.0 16 115 160 38 14.8 M4x16 L3 e | ® (256869
¢ | o=t e 2 20020017147 S e e R : 204C 4 [6.0| 20| 15.8] 160 | 40 | 18.4 o | o [256818
E o/ 4 40/02(20030( 47| - ‘A 3 g € 80[041300[60]64) - 20-4T8 4 8.0 20 | 15.6| 160 | 45 18.4 e | ¢ [256870
2 - _E==1T 5 5.0(0.3(25.0 4.0| 47| - . |0 H
B @ 6 60| 0alr5q 50|47 - . AR L X 14lo1ge0 10 4of - . 25-4C 4 |52 ] 25| 175 200 | 40 | 23.4 M5x20 L4 e | e 256820
: =il 8 sojoapnaooez) - B =Wl 3 30|02 200 24|47 - : 254CT8 | 4 [80 | 25 | 21.5| 200 | 40 | 23.4 TDC4,TSC4 | o | @ |256824
- \/e« 5 50|03[250/40|52| - 25-4T10 4 |10 25 | 18.9] 200 | 50 | 23.4 TDJ4,TDXU4 | @ | ® |256871
2 SO1oIE oo 324C 4 |47 32| 20.8] 250 | 60 30 TDT4 o | o [256822
32-4C-T10 4 10 32 27 250 60 30 ® | ® 256826
TTER ﬁh* 324T12 | 4 |12 | 32 | 21.5| 250 | 65 | 30 - s o | o [256872
b= = 40-4C-T12 | 4 | 12 40 33 | 300 | 65 38 o | @ (256828
l l 40-4T15 4 15 40 27.2| 300 70 38 e | ® 256873
L 50-4C-T15 | 4 | 15 50 40 | 350 | 70 48 o | (256830
| TTIRIL 25-5C 5 [5.2 25 | 17.3] 200 | 40 | 23.4 M5x20 L4 o [ o |256832
Tmax 32-5C 5 4.7 32 20.8| 250 60 30 TDC5,TSC5 | © | © |256834
. =[5 <
External Cut-Off/Grooving 2 R’ 325C-T10 | 5 | 10 | 32 | 27 | 250 | 60 | 30 M6x25 L5 TDJ5 o | o |256836
40-5C-T12 | 5 | 12 40 33 | 300 | 65 38 TDXU5,TDT5 | o | o |256838
@ (Inserts): A40/B91 (Toolholder Parts): P01-P04 R-Type 50-5C-T14 5 14 50 40 350 70 48 o | o |256840
TTIR/IL 32-6C 6 4.7 32 20.8| 250 60 30 O | O |256842
N°fd§’ 326CT10 | 6 |10 | 32 | 27 | 250 | 60 30 - s TDCT%JTéSCG o | o |256844
Hmoer 406CT12 | 6 |12 | 40| 33 | 300 | 65 | 38 o | o |256846
— TDXU6,TDT6
TTERIL 1010-1.4T15-D40 | 1.4 10 10 | 125 | 10 9.5 | 40 M5%20 L4 o | o [253200 50-6C-T14 | 6 | 14 50 40 | 350 | 70 48 o | o (256848
1212-1.4T15-D40 | 1.4 12 12 | 125 | 12 | 11.5 | 40 D14 o | o | 253202 TTIRL 32-8C 8 |55 32 | 21.3] 250 | 60 30 . e TDC8,TSC8 | © | o |256850
1616-1.4T20-D45 | 1.4 16 16 | 125 | 16 | 155 | 45 : o | o [253204 sl 300 | 65 3 TDXUS.TDT8 | o | o (256852
2020-1.4T20-D45 | 1.4 20 20 | 125 | 20 | 1955 | 45 MEx20 L5 o | o |253206 40-8C ENE 0 2, ‘ .
TTERIL 1010-2T15-D40 2 10 10 | 125 | 10 9.1 40 M5%20 L4 o [ o [253208
1212-2T15-D40 2 12 12 | 125 | 12 | 11.1 | 40 TDC2 o | o |253210
1616-2T20-D45 2 16 16 | 125 | 16 | 15.1 | 45 Tsc2 o | o]253212
2020-2T20-D45 2 20 20 | 125 | 20 | 19.1 | 45 TDJ2 M6x20 LS o | o |253214
2525-T20-D45 2 25 25 | 150 | 25 | 241 | 45 o | o |253216
TTERLL 1212-3T15-D40 3 12 12 | 125 | 12 [ 108 | 40 TDC3,TSC3 M5x20 L4 o[ o [253218
1616-3720-D45 3 16 16 | 125 | 16 | 14.8 | 45 TDJ3 o | o 253220
2020-3T20-D45 &) 20 20 125 20 18.8 45 TDXU3,TDT3 M6x20 L5 O | O | 253222
2525-3720-D45 3 25 25 | 150 | 25 | 23.8 | 45 o | o |253224
2525-3720-D60 3 25 25 | 150 | 25 | 238 | 60 o | o |253226
TTERLL 16162 2 16 16 | 110 | 16 | 15.1 | 12 TDC2,TSC2 e | 0 |253228
20202 2 20 20 | 125 | 20 | 19.1 | 12 TDJ2 M6x20 L5 e | 0 |253230
2525-2 2 25 25 | 150 | 25 | 244 | 12 ® | 0253232
TTERL 16163 3 16 16 | 110 | 16 | 148 | 12 TDC3,TSC3 e [ o [253234
2020-3 3 20 20 | 125 | 20 | 18.8 | 12 TDJ3,TDXU3 M6x20 L5 e | o | 253236
25253 3 25 25 | 150 | 25 | 238 | 12 TDT3 e | o | 253238
TTERIL 16164 4 16 16 | 110 | 16 | 145 | 15 TDC4,TSC4 e | 0 |253240
20204 4 20 20 | 125 | 20 | 185 | 15 TDJ4,TDXU4 M6x20 L5 e | 0 | 253242
25254 4 25 25 | 150 | 25 | 235 | 15 TDT4 ® | 0| 253244
TTERIL 20205 5 20 20 | 125 | 20 | 18.1 | 20 |TDC5,TSC5,TDJ5 M6x20 s e [ 0 [ 253246
2525-5 5 25 25 | 150 | 25 | 23.1 | 20 TDXU5,TDT5 e | 0 | 253248
TTERLL 2020-6 6 20 20 | 125 | 20 | 17.6 | 20 |TDC6,TSC6,TDJ6 M6x20 s e [ 0 [ 253250
25256 6 25 25 150 25 22.6 20 TDXU6,TDT6 ® | 0 | 253252
TTERIL 2525-8 8 25 25 | 150 | 25 | 221 | 25 TDC8,TSC8 M6x20 s e [ o | 253254
32328 8 32 32 | 170 | 32 | 291 | 25 TDXU8,TDT8 e | 0 | 253256
TTERIL 2525-10T25 10 25 25 | 150 | 25 | 21.1 | 25 o [ o | 253258
3232-10T40 10 32 32 | 170 | 32 | 28.1 | 40 TDT10 M8x30 L6 o | o |253260
4040-10T40 10 40 40 | 200 | 40 | 36.1 | 40 o | o | 253262




Grooving / Cut-off Turning Tool External / Internal Grooving turning tool

KGMR T..KGMR..

Spring Steel

External Cut-Off/Grooving

Cutting Environment @ stable Cutting @ GeneralCutting 3 Unstable Cutting Cutting Environment @ Stable Cutting @ General Cutting 3 Unstable Cutting
P Steel o0 zexe@ P Steel o0 zexe = (Inserts): A38/B93 (Toolholder Parts): PO1-P04
M Stainless Steel o 8O M Stainless Steel o #O
K Iron o o ® K Iron o o ®
N opper Plastic/Wo () ) N pp! Zinc/Plastic/Wood o o
S Carbide/Powder Metallurgy ° EXC) S Carbide/Powder Metallurgy ° EX]
- Titanium/Superalloy/Carbon Fiber ° 2@ - Titanium/Superalloy/Carbon Fiber ° %@ KGMR/L 2012K-2T17 2 GMM2426 e | @ |253400
z et | Pall MR- omeisen | Bl Ml 2020K-2T17 2 20 20 125| 20 | 19.1§ 17 GMM2020R/L M6x20 L5 e | e 253402
g Dimensioning | Product Image | Specification 8§%§‘§_§§§E i Dimensioning | Product Image | Specification 802;%§§§§§§ 2525M-2T17 2 25 25 150 25 | 2418 17 e | @ 253404
5 Wire| L |[B|H|OEOONNNNNN 5 Wire| L |[B|H|O|EOONNNNNN KGMR/L 1212H-3 3 12 12 100 12 10.8 9 M5x20 L4 e | o | 253406
SMM3020:0200W | 501 02| 20 125 | 45| - LB 1616H-3 3 16 16 100 16 | 14.8 9 e | e 253408
s o I e IR AR e B B HE
0 W 2 w . M- K 2525M-3 . o | o 253412
N s / CMMaGR0NT | 20[00| 20| 1|43 - S /e SR | omcaoww| 0|00 20| o|i| | ees 61643120 | 3 | 16 | 16 | 100| 16 | 14.8] 20 | GMM3020RIL 6x20 s o | o |253414
2520-MT 25(00]20|19]43]| - . . n 5020-040MW | 5.0 { 0.4 | 20 [42|43] - eee o
O = =i 3020MT  |30]0.0]20 23|43 - . H v 5 5020-080MW | 50| 0.6 | 20 42|43 - cee o 2012K-3T20 3 12 20 | 125| 20 | 10.8| 20 ® | e 253416
i i N a oo S0 04| 20|22/ 42 NN K 2020K-3T20 B 20 | 20| 125| 20| 18.8] 20 o | @ (253418
8030-080MW | 8.0 | 0.8| 30 | 60|55 JOM 2525M-3T20 3 25 25 150 25 | 23.8] 20 e | @ (253420
KGMR/L 2020K-4 4 20 20 125 20 18.3 10 e | o | 253422
GMM 1520R-MT-15D | 1.5{0.0| 20 | 12|43 15° o e B e 2525M-4 4 25 25 150 25 | 23.3) 10 GMM4020 e | e | 253424
2020RAMT-5D| 2.0| 0.0{ 20 | 1.5|4.3] 15" . . @Et@g oMM2020150R | 50| 15| 20 128l as| - L1 2020K-4T20 4 20 20 125 20 18.3| 20 GMG4030 M6%20 L5 o | @ |253426
SosoR A0 | 50|00 | 20 25| 43 16 N E R U == 4020-200R |40(20| 20 |33]43] - cee o 2525M-4720 4 25 25 | 150 25| 23.3| 20 GMM4020R/L ® | o 253428
O U R D A R B 8 el ot bed led I Bod I oM K 2525M-4T25 4 25 | 25| 150| 25| 23.3| 25 ® | @ 253430
250RTKBD |2.5(02(20 | 1.9]43] & LR - - KGMRI/L 2020K-5 5 20 20 125 20 | 17.8| 10 e | @ (253432
S020RTKED | 301025 20| 23|43 8 °N N 2525M-5 5 25 | 25| 150| 25| 22.8/ 10 GMM5020 o | o |253434
3232P-5 5 32 | 32| 170| 32| 29.8| 10 GMG5030 M6x20 LS e | e 253436
2525M-5T25 5 25 25 | 150| 25| 22.8| 25 GMM5020R/L e | @ |253438
R o P B 0 B 3232P-5T25 5 32| 32| 170| 32| 29.8| 25 o | o [253440
ggggtmgg AR B P b B 3 W KGMRIL 2525M-6T30 6 25 25 150 25 | 22.4] 30 s e M6x20 L5 o | e (253442
A KGMR/L 2525M-8 8 25 25 150 25 | 22.0/ 25 GMM8020 e | @ 253444
ool e Bl D e 32328 8 | 32| 32| 170| 32| 29.0] 25| oMo MEx20 LS o | o |253446
3020L-TK-8D |3.0(0.25[ 20 |2.3(4.3| 8° Used of Automatlc Lathe
KGMRIL 0810K-1.5-125 | 1.5 10 8 125 8 9.4 5 e | e 253500
1010K-1.5125 | 1.5 10 10 125 10 9.4 10 GMM1520 M5x20 L4 e | e 253502
1212F-1.5-85 1.5 12 12 85 12 1.4 12.5 GMM1520R/L e | o 253504
KIGMR 1212M45450 | 1.5 | 12 | 12 | 150| 12 | 11.4| 125 o | o |253506
KGMRI/L 0810K-2-125 2 10 8 125 8 9.2 5) e | @ (253508
1010K-2-125 2 10 10 125 10 | 9.15| 10 e | @ |253510
1212F-2-85 2 12| 12| 85| 12 [ 11.15 125 Gsmﬂé“ggu M5x20 L4 o | o 253512
1212M-2-150 2 12 12 150 12 | 11.15 12.5 e | e 253514
1616M-2-150 2 16 16 150 16 | 15.19 16 M6x20 L5 e | ® 253516
Internal Grooving Processing KGMR/L 1010K-2.5-125 | 2.5 10 10 | 125] 10 9 10 e | @ |253518
= (Inserts): A38/B93 (Toolholder Parts): PO1-P04 R-Type 1212F-2585 | 2.5 12| 10| 85| 10 1| 125 GMM2520 M5x20 L4 e | e 253520
1212M-2.5150 | 2.5 12 12 150 12 11 12.5| GMM2520R/L e | @ 253522
1616M-2.5-150 | 2.5 16 16 150 16 15 16 M6%20 L5 e | ® 253524
KGMRI/L 1616M-3-150 3 16 16 | 150| 16 | 14.8| 16 " M6x20 L5 e | @ [253526
Spring Steel Shock-Proof Toolholder (Shock-Proof Effect>4 Times Toolholder Diameter
KIGMRIL 201683V | 3 | 5. M4x15 L3 ® | ® |256700 TKGMRIL 1010045712 | 1.5 | 10 | 10 | 10| 10| 10| 12 e | o 353450
2520B-3V 3 6.0 20 14.5 | 180 32 18 | GMM30 , GMG30 e | ® |256702 1212645121045 12 12 90 12 12 12 M5x20 La o | o 353450
3225B-3V 3 8.0 25 19 200 40 23 M6x25 L5 e | @ 256704 i ’ GMM1520
KIGMRIL 3225B4V | 4 | 8.5 25 | 19 | 180 | 40 | 23 | GMM40,GMGA0 e [ o [256706 212045m2 | 1.5 | 121 12 ) 104 120 121 12 ) gy ieo0py ° | ® 353454
’ M6x25 L5 1616G-1..5T15| 1.5 16 16 90 16 16 15 e | e 353456
4032B-4V 4 |11.0] 32 23.5 | 200 50 29 |GMM50, GMG50 e | @ 256708 2020k1.5T15 | 1.5 20 20 125 20 20 15 M6x20 L5 o | o 353458
T-KGMR/L 1010J-2T12 2 10 10 | 110] 10 10 12 e | o 353460
1212G-2T12 2 12 12 90 12 12 12 M5%20 L4 e | @ (353462
KGMSR 21202712 | 2 | 12| 12| 10| 12| 12| 12| gumoazo o | o 353464
1616H-2T17 2 16 16 | 100| 16 16 17 GMM2020R/L e | o | 353466
1616J-2T12 2 16 16 110 16 16 12 M6x20 L5 ® | e 353468
2020K-2T12 2 20 20 125 20 20 12 e | @ | 353470
T-KGMR/L 1616H-3T20 & 16 16 100 16 16 20 GMM3020 o | e (353472
2020K-3T20 3 20 20 125 20 20 20 GMG3030 M6x20 L5 e | o 353474
External Cut-Off Processing 2525M-3T20 3 25 25 150 25 25 20 GMM3020R/L o | o 353476
T-KGMR/L 2525M-4T20 4 25 25 150 25 25 20 GMM4020R/L M6x20 L5 e | e 353478
@ (Inserts): A38/B93 (Toolholder Parts): P01-P04 R-Type
Order
: o - Number
KGMSR/L 1212H-3 3 12 12 100 12 17 4.8 . M5x20 L4 e | @ 253600
1616H-3 3 | 16 | 16 | 100 | 16 |21.5| 4.8 | SMM30%0 e [ o |253602
2020K-3 3 20 20 | 125 | 20 25 | 4.8 GMM3020R/L M6x20 L5 e | o 253604
2525M-3 3 25 25 150 25 30 4.8 e | ® 253606




Grooving / Cut-off Turning Tool External / Internal Grooving turning tool

(Cutting Speed) : m/min™" (mm)
PCD CBN-K CBN-S ZN60 ZN90 ZKO01 ZC250 ZC251 ZC32s8 ZP152 ZP153 ZP163 ZK50 ZK50S Q E . D .n R
CVD CcVD CcVD
150-600 150-800 70-500 150-500 150-600 70-250 100-250 80-300
150-350 150-500 70-250 80-350 100-400 70-150 80-150 60-200
HRC46-58 10-30 20-60 20-60 20-80
M 200-300 200-350 50-150 70-150 50-200
300-1500 100-300 100-350 200-300 200-350 .
K 400-800 100-200 100-250 150-200 150-250 EXterna‘ Cut*Off/Groovmg
300-1200 300-1200
BIEtLs-1/0 300-1500 300-1500
HB70-110 300-800 300-800
300-1000 300-1000 @ (Inserts): A41/B95 (Toolholder Parts): P01-P04
10-30 10-30 20-50
S 400-600 400-600 Order
- 100-200 100-200 20-50 20-60 30-80 i - y Number
. QECD  1616R/L15| 2 16 16 | 100 | 16 | 16.2| 15 M5X20 L4 e | o 252501
Cutting Environment . Stable Cutting 0 General Cutting x Unstable Cutting Cutting Environment . Stable Cutting 0 General Cutting x Unstable Cutting 2020RIL15 2 20 20 125 20 202 15 ZCD MGXZO L5 Y Y 252503
P stee oo =exe R stee Old L QEED 1616R/L10| 2.5 | 16 | 16 | 125 | 16 | 16.3 | 10 M5X16 P o | e | 252500
x e I°R B8 "\(4 S e 1616RIL17 | 2.5 | 16 | 16 | 125 | 16 | 16.3| 17 M5X20 e | @ |252502
N . e " . N . s R . 2020R/L10 | 2.5 20 | 20| 125 | 20 |20.3| 10 2 ED o | o | 252504
5 CorbidelPouer Metalluray . 0 B CarbidelPouer Metalluray . pn . 2020R/L17 | 2.5 20 | 20 | 125 | 20 |20.3| 17 B MBX25 s e | o | 252506
H| e ——————— A <o I e ——————— - m 2525R/IL10 | 2.5 25 | 25| 150 | 25 |25.3| 10 e | o [252508
z e ® g B E B o T AN 2525R/L17 | 2.5 25| 25| 150 | 25 |25.3| 17 e | o |252510
5 e o nz=25RRLL QEFD 1616R/L10 | 3 16 16 | 125 | 16 | 16.3| 10 o | o [252512
:5:)' Dimensioning Product Image Specification (W |re| L |B|H|B 8885588&& :ai' Dimensioning Product Image Specification (W |re| L |B|H|B 8885%88&& 1616R/L17 3 16 16 125 16 16.3 17 M5X20 L4 ° ® 252514
R 2020R/L10| 3 20 | 20| 125 | 20 |20.3| 10 7 FD o | o 252516
%@@Mﬁ 2020R/L17 | 3 20| 20| 125 | 20 |20.3| 17 R MEX25 L5 o | o [252518
e 2D s P b I 2525R/L10 | 3 25 | 25| 150 | 25 [25.3| 10 o | o |252520
o L ostme |5oloal I 2525RM17| 3 | 25| 25| 150 | 25 |25.3| 17 o | o 252522
i 0608-MG |6.0|08]| 22 . . QEGD 2020R/L13| 4 20 20 | 125 20 | 20.5] 13 e | ® | 252524
- 2020R/L22 | 4 20 | 20 | 125 | 20 |20.5| 22 e | o | 252526
5 £ 5 2525R/L13| 4 25 | 25| 150 | 25 | 25.5| 13 o | o |252528
@é@ﬁ ZRED 025:MG | 25125175 - . . @gt@ﬁ 2525R/L22 | 4 25 | 25| 150 | 25 | 25.5| 22 2.GD.. MBX25 Lo o | o (252530
o * 03-MG 3015017 | - o . ° & [ZRKD 06-LH 6.0|30[19| - | -] - .
—t— 04MG  |40|20]21 I L @/‘ SR P DR U e O . 3232R/IL13| 4 32| 32 |170| 32 |325| 13 e | o 252532
= = i eme  |e0l30 %] - O | = =T 3232RN22| 4 | 32| 32 | 170 | 32 |325| 22 o | o |252534
12 [ QEHD  2525R/L13| 5 25 25 | 150 | 25 |25.5| 13 o | o |252536
2525R/L22 | 5 25 | 25| 150 | 25 | 25.5| 22 e | @ | 252538
3232R/L13| 5 32 32 | 170 | 32 |[32.5| 13 Z:HD.. MEX25 Lo e | o |252540
3232R/L22| 5 32 32 | 170 | 32 |325| 22 o | o 252542
QEKD  2525R/L13| ¢ 25| 25| 150 | 25 |25.6| 13 o | o | 252544
2525RIL22 | ¢ 25 | 25| 150 | 25 | 25.6 | 22 e | o | 252546
3232RL13| 6 | 32| 32 | 170 | 32 |32.6| 13 Z:KD-. Mex2s Lo o | o |252508
3232R/IL22 | ¢ 32 | 32170 | 32 |326 | 22 e | o | 252550

C..Q.DR

Q..DR

Profile Copying of Aluminum Wheel Hub

Internal Grooving Processing

R-Type

@ (Inserts): A41/B95 (Toolholder Parts): P01-P04
-- Rl Order
@ - r — Number
- C20Q-QEDR/L05-27 | 20 | 180| 15.2| 2.5 | 5 40 27 | o025 M4X12 L3 o | e 257100
C25R-QEDRIL07-33 | 25 | 200| 20.3| 25 | 7 45 33 - M5X16 L4 o | o [257102
Workpiece Rotation Direction | C32S-QEDR/L0942 | 32 | 250| 25.3| 25 | 9 | 58 | 42 | ZREDO25. M5X20 L4 o | e |257104
N C20Q-QFDR/L05-27 | 20 | 180| 15.2| 3 5 40 27 STFDO3 M4X12 L3 ° | ® 257106
C25R-QFDRIL07-33 | 25 | 200| 20.3| 3 7 45 33 - M5X16 L4 o | e (257108
I  (Inserts): A41/B95 (Toolholder Parts): PO1-P04 C32S-QFDR/L0942 | 32 | 250| 25.3| 3 9 58 42 ZRFDO3.. M5X20 L4 o | ® [257110
C25R-QGDRIL08-35 | 25 | 200| 21.5| 4 8 45 35 —— M5X16 L4 o | e |257112
NO::S; C32S-QGDR/L1144 | 32 | 250| 27.5| 4 1 58 44 - M6X20 L5 o | o 257114
5 C40T-QGDR/L13-54 | 40 | 300 | 33.5| 4 13 | 72 54 ZRGD04.. M6X20 L5 o | e 257116
C40T-QLDRIL65-15A | 160 40 21 300 65 e | & | 255630 C25R-QHDR/L08-35 | 25 | 200| 21.5| 5 8 45 35 STHDOS M5X16 L4 o [ e 257118
C40T-QLDR/L80-15A | 160 40 21 300 80 ZRLDO8-LH M6x20 L5 o | o |255631 C32S-QHDRIL1144 | 32 | 250| 27.5| 5 11 58 44 - M6X20 L5 o | e |257120
C50U-QLDRI/L80-15A | 160 50 26 350 80 o | o 255632 C40T-QHDR/L13-54 | 40 | 300| 33.5| 5 13 | 72 54 ZRHDOS.. M6X20 L5 o | o |257122
C40T-QKDRIL60-15A | 160 40 21 300 60 e | @ | 255633 C25R-QKDR/L08-35 | 25 | 200| 21.5| 6 8 45 35 STKDOS M5X16 L4 o | e (257124
C40T-QKDRIL75-15A | 160 40 21 300 75 ZRKDOB-LH M6x20 L5 o | o 255634 C32S-QKDRIL1144 | 32 | 250| 27.5| 6 1 58 44 - M6X20 L5 o | o |257126
C50U-QKDRIL75-15A | 160 50 26 350 75 o | o |255635 C40T-QKDR/L13-54 | 40 | 300| 33.5| 6 13 | 72 54 ZRKDO6.. M6X20 L5 o | e (257128




Grooving / Cut-off Turning Tool External Cut-off / Grooving turning tool

GY

Cutting Environment @ Stable Cutting @ GeneralCutting & Unstable Cutting Cutting Environment @ Stable Cutting @ GeneralCutting 3§ Unstable Cutting
P Steel 00 Z0%® P Steel 00 Re%e
M Stainless Steel (] BO M Stainless Steel o BO
K on e . K on ole " Cutting Environment @ Stable Cutting @ GeneralCutting 3 Unstable Cutting Cutting Environment @ Stable Cutting @ GeneralCutting 4 Unstable Cutting
N pper i Y " N PP i o d ° 0 P Steel 00 ZOx© P Steel 00 20x@
S Carbide/Powder Metallurgy ® EX) S Carbide/Powder Metallurgy ° 20 M Stainless Steel (@] ®BO M Stainless Steel (e} 2O
- Titanium/Superalloy/Carbon Fiber ° %@ - Titanium/Superalloy/Carbon Fiber ° 2@ K Iron o o ® K Iron o o ®
> > Plastic/Wood ° ° r im/Zinc/Plasti ° (]
g X0  ocam 2 X0  ocam oY o e N w " o
2 Dimension |32 QcRibs = Dimension | >23SBK0w S Carbide/Powder Metallurgy ° %O S Carbide/Powder Metallurgy o %o
il . ommz¥oooa 2 o ommzv¥ooao
3 Dimensioning Product Image Specification Wilre| L | B [ROONNNNNN = Dimensioning Product Image Specification Wilre| L | B [ROONNNNNN - Titanium/Superalloy/Carbon Fiber ) EXC) - Titanium/Superalloy/Carbon Fiber o X}
El 3
> >
2 Dimension X0 oO—Nm 5 Dimension X0 oM™
5 Dimensioning Product Image Specification czz%gﬁﬁi’ﬁ 5 Dimensioning Product Image Specification 922883335
= OomMmMzZzx¥xO0oo o =% ommzZzx¥O00oo
S WIlre|L|B|H|H|mOONNNNNN S Wl re| L |B|H|H|mOONNNNNN
GY2M 0200D020N-MM 2.0/0.2[20.719.1 ¢ oo
0250E020N-MM 2.5(0.2(20.7|19.1 ° oo re
. 0300F020N-MM 3.0|0.2[20.7]19.1 e oo re GY2M 0200D100N-BM 2.0| 1.0 (20.9[19.5] e o . B,
i - w
0300F040N-MM 30|04 [20.7/18.9) e oo a ; ggggaggmgm ig 1{25553'2123 o MC g @7 WGE 20 soloalool - lasl - -H.H. WGE 20R solosl 20l - a7l - H.0.
0300F080N-MM 3.0|0.8[20.718.5 o oo [Ca=n:N] TR Ro R IS P o B N N s e y 30 30(02|20]| - |55 - o o o 30R 30l02| 20| - |55] - o o o
0400004ONMM |46 |02 o dosd . g |k—— 0400G200N-BM | 4.0|2.0[25 8234 N I 7 20 L0102125) 5T - N N B 0% e et B A N M
0400GO8ON-MM | 4.0 0.8 [25.623 5 e ee | 0475H238N-BM  |4.75|2.38[25.6[22.9 o oo e 9s O 50 50(02|25| - |59] - L 50R 50[02| 25| - |59] - o o o
0500HO4ON-MM | 5.0 | 0.4 |25.6[25. e A== v 0500H250N-BM |50/ 25|25 ° oo 7
0500HOBON-MM | 5.0 0.8 [25.6[23.5) o e 7 0600J300N-BM 6.03.0125.9122.5 M NS
0600J040N-MM 6.0 0.4 [25.623.9 o oo 0635J318N-BM 6.35/3.18[25.9) ¢« oo
0600J080N-MM 6.0{0.8 (25.6/23.5 ¢ oo 0800K400N-BM 8.0/ 4.0 (30.8/26.5| ° oo
0800K08ON-MM 8.0/ 0.8(30.5(28.5 ° oo
0800K120N-MM 8.0 1.2(30.5(28.1 e oo
°
° 30[15(20| - |55] - e o o Y 20L 20(02| 20| - |47 - ¢« o o
g 40(20[25| - |57]| - o o o © 30L 30[02|{ 20| - |55] - ¢ o o
2 50(25[25| - |59] - e o o H 40L 40|02| 25| - |57] - o o o
‘ 50L 50{02| 25| - |59] - e o o
DGHR _ CGWSR CGWSR..S
GYHR

&ﬁ Spring Steel

External Cut-Off/Grooving

j:[ _t External Cut-Off/Grooving

= (Inserts): A39/B97 (Toolholder Parts): PO1-P04 R-Type == (Inserts): A40/B98 (Toolholder Parts): P01-P04
Order
| o ” Number
DGHR/L 1616K2 2 16 16 125 16 16.2 16 M5x20 L4 e | @ 252300
2020K2 2 20 20 125 20 20.2 20 DGM20CE M6x20 L5 e | o 252302
2525M2 2 25 25 150 25 | 25.2 | 20 e | ® 252304
DGHR/L 1616K3 3 16 16 125 16 16.2 16 M5x20 L4 e | ® 252306
2020K3 3 | 20| 20 [125] 20 {20.2| 20 | pgm3ocE o | o |252308
2525M3 3 | 25 | 25 | 150 | 25 |25.2| 20 DGJ30CE M6x20 L5 e | o 252310 N?J:::;r
3232P3 3 32 32 170 32 32 20 e | @ 252312 s ¢
DGHR/L 2020K4 4 20 20 125 20 20.2 20 e | @ 252314 CGWSR/L 1616-W20-L 2 16.4 WGE20 M5x20 L4 e | o (253100
2525M4 | 4 | 25 | 25 | 150 | 25 |25.2| 20 DGJ40CE M6X20 L5 o | o |252316 200w204 | 2 | 20| 20| 125 | 20 |20.4| 15 | \uGEooRiL V620 L5 o | o [253102
3232P4 4 32 32 170 32 32 20 e | o 252318 2525-W20-L 2 25 25 | 150 25 25.4 15 e | @ (253104
DGHR/L 2525M5 5 25 25 150 25 | 25.2 ] 20 DGJ50CE M6x20 L5 e | ® 252320 CGWSRI/L 1616-W30-L 3 16 16 | 100 16 16.4 | 16.5 WGE30 M5x20 L4 e | o 253106
WGE30RTC
3232P5 5 32 32 170 32 32 20 e | @ 252322 2020-W30-L 3 20 20 | 125 20 | 204 | 16.5 WGT30 M6x20 L5 e | @ 253108
DGHR/L 2525M6 6 25 25 150 25 | 25.2 | 20 DGJBOCE M6x20 L5 O | 0 |252324 2525-W30-L 3 25 25 | 150 25 | 254 16.5 WGR30 e | o 253110
3232P6 6 32 32 170 32 32 20 o | 0 252326 CGWSR/L 2020-W40-L 4 20 20 125 20 20.4 21 WGE40,WGE40R/L] M6x20 L5 e | e 253112
GY2M Series Cutting Cut-Off/Grooving Toolholder 2525-W40-L 4 25 25 | 150 25 | 254 | 21 WGT40,WGR40 e | e 253114
GYHR/L 1616H2 2 16 16 100 16 16 18 M5x20 L4 o | 0 |252400 CGWSR/L 2020-W50-L 5 20 20 | 125 20 | 20.4 | 21 WGE50,WGE50R/L] M6x20 L5 e | o 253116
2020K2 2 20 20 125 20 20 20 GY2M0200 M6x20 L5 o | o |252402 2525-W50-L 5) 25 25 | 150 25 25.4 21 WGT50,WGR50 e | ® 253118
2525M2 2 25 25 150 25 25 20 O | 0 | 252404 Spring Steel Shock-Proof Toolholder (Shock-Proof Effect >4 Times Toolholder Diameter)
GYHR/L 1616H3 3 16 16 100 16 16 18 M5x20 L4 O | 0 |252406 T-CGWSR/L 1616-W20 2 16 16 | 100 16 16.4 15 WGE20 M5%20 L4 e | e 253120
2020K3 3 20 | 20 | 125 | 20 20 20 GY2M0300 o | 0 |252408 2020w20 | 2 20 | 20 | 125 | 20 |20.4| 15 WGE20R/L M6x20 L5 ® | e 253122
2525M3 8 25 25 150 25 25 20 GY2M0318 M6x20 L5 o | 0 |252410 2525-W20 2 25 25 | 150 25 | 254 15 e | @ 253124
3232P3 3 32 32 170 32 32 20 o | 0 |252412 T-CGWSR/L 1616-W30 3 16 16 | 100 16 16.4 | 16.5 WGE30 M5x20 L4 e | e 253126
GYHRIL 1616H4 4 [ 16 ] 16 [100| 16 | 16 | 12 o [ o [252414 200w30 | 3 | 20| 20| 125 | 20 | 204|165 | VEEORE MIBx20 L5 o | e 253128
2020K4 4 20 20 125 20 20 25 O | 0 |252416 2525-W30 3 25 25 | 150 25 | 25.4|16.5 WGR30 e | @ 253130
2525M4 4 25 | 25 | 150 | 25 | 25 | 25 GY2M0400 M6x20 LS o |0 252418 T-CGWSRIL 2020-W40 | 4 20| 20| 125 | 20 |20.4| 21 | woE40,wWGE40R/ MEx20 L5 e | o (253132
3232P4 4 32 32 170 32 32 25 o | 0 252420 2525-W40 4 25 25 | 150 25 | 25.4 | 21 WGT40,WGR40 e | @ [253134
GYHR/L 2525M5 5 25 25 150 25 25 25 O | O | 252422 T-CGWSR/L 2020-W50 5 20 20 125 20 20.4 21 WGE50,WGE50R/L e | o (253136
3232P5 5 | 32| 32 | 170 | 32 | 32 | 25 | CY2M0500 M6x20 L5 o | o |252424 2505ws0 | 5 | 25| 25| 150 | 25 |25.4| 21 | wetso,wcRso M6x20 L5 o | o [253138




